
O+
8 (2).2 (mod 2)

blocks defect matrix

2.G : 1 14 108× 11
2 2 4× 1



Block 1: ϕ1,0 ϕ2,0 ϕ3+ ϕ5,0 ϕ6,0 ϕ7+ ϕ9,0 ϕ10+ ϕ12,0 ϕ13,0 ϕ14+

11 = χ1,0 1 . . . . . . . . . .
12 = χ1,1 1 . . . . . . . . . .
281 = χ2,0 2 . . 1 . . . . . . .
282 = χ2,1 2 . . 1 . . . . . . .
351 = χ3,0 1 1 . 1 . . . . . . .
352 = χ3,1 1 1 . 1 . . . . . . .
701 = χ4+ 2 . 1 2 . . . . . . .
501 = χ6,0 . 1 1 1 . . . . . . .
502 = χ6,1 . 1 1 1 . . . . . . .
841 = χ7,0 2 1 . 1 1 . . . . . .
842 = χ7,1 2 1 . 1 1 . . . . . .
1681 = χ8+ 4 . 1 2 . 1 . . . . .
1751 = χ10,0 5 . . 1 1 1 . . . . .
1752 = χ10,1 5 . . 1 1 1 . . . . .
2101 = χ11,0 . 1 1 1 . . 1 . . . .
2102 = χ11,1 . 1 1 1 . . 1 . . . .
4201 = χ12+ . 2 2 2 . . . 1 . . .
3001 = χ14,0 2 . . 2 . . . . 1 . .
3002 = χ14,1 2 . . 2 . . . . 1 . .
3501 = χ15,0 2 1 1 3 . . . . 1 . .
3502 = χ15,1 2 1 1 3 . . . . 1 . .
5251 = χ16,0 7 1 1 4 1 1 . . 1 . .
5252 = χ16,1 7 1 1 4 1 1 . . 1 . .
5671 = χ17,0 3 2 1 3 1 . 1 . 1 . .
5672 = χ17,1 3 2 1 3 1 . 1 . 1 . .
11341 = χ18+ 6 2 3 6 . 1 . 1 2 . .
7001 = χ20,0 2 2 2 1 1 1 1 1 . . .
7002 = χ20,1 2 2 2 1 1 1 1 1 . . .
7003 = χ21,0 6 1 2 4 1 1 1 . 1 . .
7004 = χ21,1 6 1 2 4 1 1 1 . 1 . .
14001 = χ22+ 12 4 3 8 2 2 . 1 2 . .
8401 = χ24,0 4 2 2 3 1 1 . 1 1 . .
8402 = χ24,1 4 2 2 3 1 1 . 1 1 . .
16801 = χ25+ 8 4 4 6 2 2 2 1 2 . .
9721 = χ27,0 2 2 2 2 1 1 1 1 1 . .
9722 = χ27,1 2 2 2 2 1 1 1 1 1 . .
10501 = χ28,0 4 3 3 4 1 1 1 1 1 . .
10502 = χ28,1 4 3 3 4 1 1 1 1 1 . .
21001 = χ29+ 8 6 6 8 2 2 2 2 2 . .
13441 = χ31,0 2 2 2 4 . . 1 . 1 1 .



(Block 1:) ϕ1,0 ϕ2,0 ϕ3+ ϕ5,0 ϕ6,0 ϕ7+ ϕ9,0 ϕ10+ ϕ12,0 ϕ13,0 ϕ14+

13442 = χ31,1 2 2 2 4 . . 1 . 1 1 .
26881 = χ32+ 4 4 4 8 . . . 1 2 . 1
14002 = χ34,0 6 4 4 7 1 1 1 1 2 . .
14003 = χ34,1 6 4 4 7 1 1 1 1 2 . .
15751 = χ35,0 7 3 2 5 2 1 1 . 1 1 .
15752 = χ35,1 7 3 2 5 2 1 1 . 1 1 .
31501 = χ36+ 14 4 5 10 2 3 . 1 2 . 1
21002 = χ38,0 4 5 4 5 2 1 2 1 1 1 .
21003 = χ38,1 4 5 4 5 2 1 2 1 1 1 .
42001 = χ39+ 8 8 9 10 2 3 2 3 2 . 1
22401 = χ41,0 2 6 4 4 2 1 1 2 1 1 .
22402 = χ41,1 2 6 4 4 2 1 1 2 1 1 .
44801 = χ42+ 4 8 10 8 2 3 4 3 2 . 1
22681 = χ44,0 8 5 4 8 2 1 1 1 2 1 .
22682 = χ44,1 8 5 4 8 2 1 1 1 2 1 .
45361 = χ45+ 16 8 9 16 2 3 2 2 4 . 1
28351 = χ47,0 7 4 5 7 1 2 1 1 1 . 1
28352 = χ47,1 7 4 5 7 1 2 1 1 1 . 1
56701 = χ48+ 14 10 9 14 4 3 2 2 2 2 1
32001 = χ50,0 10 4 4 8 2 2 . . 1 1 1
32002 = χ50,1 10 4 4 8 2 2 . . 1 1 1
42002 = χ52,0 14 6 6 11 3 3 1 1 2 1 1
42003 = χ52,1 14 6 6 11 3 3 1 1 2 1 1
60751 = χ53,0 17 11 11 17 4 4 3 3 4 1 1
60752 = χ53,1 17 11 11 17 4 4 3 3 4 1 1

81 = χ54,0 . 1 . . . . . . . . .
82 = χ54,1 . 1 . . . . . . . . .
561 = χ55,0 . 1 . . 1 . . . . . .
562 = χ55,1 . 1 . . 1 . . . . . .

1121 = χ56,0 4 1 . 2 1 . . . . . .
1122 = χ56,1 4 1 . 2 1 . . . . . .
1601 = χ57,0 . . . . . . 1 . . . .
1602 = χ57,1 . . . . . . 1 . . . .
4481 = χ58+ . . 2 . . 1 2 . . . .
4001 = χ60,0 4 1 2 2 1 1 1 . . . .
4002 = χ60,1 4 1 2 2 1 1 1 . . . .
4482 = χ61,0 6 . . 2 1 1 . . 1 . .
4483 = χ61,1 6 . . 2 1 1 . . 1 . .
5601 = χ62,0 2 2 2 4 . . 1 . 1 . .
5602 = χ62,1 2 2 2 4 . . 1 . 1 . .



(Block 1:) ϕ1,0 ϕ2,0 ϕ3+ ϕ5,0 ϕ6,0 ϕ7+ ϕ9,0 ϕ10+ ϕ12,0 ϕ13,0 ϕ14+

13443 = χ63+ . 4 4 . 2 2 2 2 . . .
8403 = χ65,0 . 1 . . 1 . . . . 1 .
8404 = χ65,1 . 1 . . 1 . . . . 1 .
10081 = χ66,0 8 2 2 6 1 1 1 . 2 . .
10082 = χ66,1 8 2 2 6 1 1 1 . 2 . .
20161 = χ67+ 8 2 2 4 2 2 . . . . 1
12961 = χ69,0 6 3 2 6 1 . . . 1 1 .
12962 = χ69,1 6 3 2 6 1 . . . 1 1 .
14004 = χ70,0 2 5 4 4 1 1 1 2 1 . .
14005 = χ70,1 2 5 4 4 1 1 1 2 1 . .
14006 = χ71,0 2 3 2 4 1 . 1 . 1 1 .
14007 = χ71,1 2 3 2 4 1 . 1 . 1 1 .
24001 = χ72,0 10 6 6 10 2 2 2 2 3 . .
24002 = χ72,1 10 6 6 10 2 2 2 2 3 . .
28001 = χ73,0 6 7 6 6 3 2 3 2 1 1 .
28002 = χ73,1 6 7 6 6 3 2 3 2 1 1 .
56001 = χ74+ 12 10 8 12 4 3 2 2 2 2 1
32401 = χ76,0 10 7 6 10 3 2 2 2 3 1 .
32402 = χ76,1 10 7 6 10 3 2 2 2 3 1 .
33601 = χ77,0 10 4 4 8 2 2 1 . 1 1 1
33602 = χ77,1 10 4 4 8 2 2 1 . 1 1 1
71681 = χ78+ 8 12 14 16 2 3 4 4 4 . 2
42004 = χ81,0 18 7 8 14 3 4 1 2 3 . 1
42005 = χ81,1 18 7 8 14 3 4 1 2 3 . 1
45362 = χ82,0 12 7 8 12 2 3 1 2 2 1 1
45363 = χ82,1 12 7 8 12 2 3 1 2 2 1 1
56002 = χ83,0 20 10 10 18 4 4 2 2 4 1 1
56003 = χ83,1 20 10 10 18 4 4 2 2 4 1 1

ϕ1,0 = 11
ϕ2,0 = 81
ϕ3+ = 161
ϕ5,0 = 261
ϕ6,0 = 481
ϕ7+ = 961

ϕ9,0 = 1601
ϕ10+ = 3201
ϕ12,0 = 2461
ϕ13,0 = 7841
ϕ14+ = 15681

Block 2: ϕ16,0

40961 = χ51,0 1
40962 = χ51,1 1

40963 = χ80,0 1
40964 = χ80,1 1

ϕ16,0 = 40961


